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Learning areas
Alliteration ,Rhyming Words,Internal Rhymes,Visual Images ,Metaphor,Simile,Couplet,Rhyming
Scheme,Acrostic Poem ,Limerick,Personification,Anthropomorphism .

SECTION -1 Poem comprehension

Read the poem and answer the questions.

A Bird Came Down.

A Bird, came down the Walk -
He did not know I saw

He bit an Angle Worm in halves
And ate the fellow, raw,

And then, he drank a Dew

From a convenient Grass -

And then hopped sidewise to the Wall
To let a Beetle pass -

He glanced with rapid eyes,

That hurried all abroad -

They looked like frightened Beads, I thought,
He stirred his Velvet Head. -

Like one in danger, Cautious,
I offered him a Crumb,

And he unrolled his feathers,

And rowed him softer Home -

Than Oars divide the Ocean,

Too silver for a seam,

Or Butterflies, off Banks of Noon,
Leap, plash less as they swim.

1. What is the poem about?
a. A normal occurrence in nature of a bird searching for its food .
b. A fight between a bird and a poet.
c. A bird eating a beetle.

d. A bird teaching others how to eat a worm.



2. How does the poet describe the eyes of the bird?
a. Watery like dew.
b. Like grass.
C. Like frightened beads.
d Like butterflies.

3. The word 'cautious' is used in reference to which character in the poem?
a. The poet.
b. The bird.
C. The beetle.
d The worm.
4. The bird did not do which of the following?
a. Cook the worm and eat it.
b Let the beetle pass.
c. Unroll his feathers.
d Glance with rapid eyes.
5. Find antonyms for 'careless', 'cooked', 'courageous' and 'slow' from the poem?
a. convenient, raw, frightened, rapid
b cautious, hurried, frightened, rapid
c. cautious, raw, hopped, rapid
d cautious, raw, frightened and rapid

TYPES OF POEMS AND POETIC DEVICES

6. The figure of speech that compares two different things using the words like or as...
a Irony
b. Metaphor
c Simile
d Personification
7. "Her hair was as golden as the sun.’
The figure of speech used in this line is ................
a. Irony
b metaphor
c. personification
d Simile
8. Which of the following sentence is an example for simile.
a. As cute as a kitten
b He is a shining star
c. The snow is white blanket.
d She is an angel.

9. "The cloud was fluffy like cotton candy.’
The figure of speech used in this line is
a. satire



10.

11.

12.

13

14.

15.

16.

irony
simile
metaphor

He is as strong as a lion.

The figure of speech used inthis sentence is .........ccccceeeeveennne

a.

b.
c.
d

metaphor
simile
personification
irony

’She is an angel’.

The figure of speech used in this sentence is ........cccccueeenee

a.

b.
c.
d

metaphor
simile
personification
irony

"The leaves danced in the wind’.

The figure of speech used in this line is ................

a.

T

simile
metaphor
personification
irony

........... is the repetition of consonant sounds in words close together.

Rhyme
Alliteration
Assonance
Internal rhyme

Find an instance of alliteration from the given lines.

a.

b.
c.
d

Of the earth that is so dark
Unilluminated, a deeper mark.
Without which it were not.
Away from your shadow on me.

Away from your shadow on_me

Your beauty would be.

The underlined words in the above lines are example for...

a.

b.
c.
d

o

Alliteration
Rhyming words
Internal rhyme
Simile

.............. is a pair of lines in poetry that rhyme with each other.

Acrostic poem
Couplet



17.

18.

19.

20.

21.

22.

Limerick
sonnet

"Humpty Dumpty sat on a wall
Humpty Dumpty had a great fall.’
These lines are an example of ..........cccceevvunneene.

a.

b.
c.
d

Acrostic poem
ballad
Limerick
Couplet

"Nature puts on little shows

Every time it rains or snows.’

These lines are an example of ..........ccceeeennns

a.

b
c.
d

The poem in which the first letter of each line spells out a word or a phrase.

Ballad
Limerick
acrostic poem
couplet

a. Acrostic Poem

b. Couplets

c. Ballad

d Sonnet
Marvellously

Overflowing with love and
Touching the

Heart

Everyone she

Reaches

This poem is an example of ..........ccceeeuneen.

a.

b.
c.
d

Limerick
Acrostic poem
Couplet
ballad

Which of the following lines have internal rhyme in it?

a.

b.
c.
d

There is a ship on the sea.

I'm taking a trip on a big cruise ship.

I'm not afraid of storms.

He caught the sound of waves once more.

Which of the following is an example of metaphor?

a.

b.
c.
d

The glasses smiled at me
Cute cats chase toys
Snow is like the sun

My life is a dream.



23.

24.

25.

26.

27.

28.

29.

A limerick is a funny poem with five lines and its rhyme scheme is
a. bbaab

b aabba
c. abbaa
d aabaa

There once was a pear.
Who had fluffy hair
He liked to roll

So was put in a roll
And that was a scare.

Identify the rhyme scheme and find the type of poem it belongs to.

a. Limerick
b. Sonnet
c. Ballad

d Couplet

The mountains sing together,the hills rejoice and clap hands.
The figure of speech used in these lines is.........cccevveerreeennnee.

a. simile

b. Paradox

c. personification
d. metaphor

Choose which one is a metaphor.
a. Life is like a camera.
b. Life is a game.

Choose a best ending for the metaphor.
Jhon is so fast,john is a ..............

a. rocket
b. car
<, lion

"The wind howled in the night.”
The figure of speech used here is .........ccceeeuveennne.

a. simile

b Paradox

C. personification
d metaphor

When I was one

I had just begun

When I was Two

I was nearly new

The words one and begun are....
a. metaphors

b. Rhyming words



30.

Internal Rhymes

Which is an example for alliteration?

a.

b
c.
d

The dog left the house.

The birds are chirping.

The girl was very hard-working.

The big black bear jumped at the little bunnies.
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1. A normal occurrence in nature of a bird searching for its food .
2. Like frightened beads
3. The poet.
4. Cook the worm and eat it.
5. cautious, raw, frightened and rapid
6. Simile
7. Simile
8. As cute as a kitten
9. simile
10. simile
11. metaphor
12.  personification
13.  Alliteration
14.  Without which it were not.
15. Rhyming words
16. Couplet
17.  Couplet
18.  Couplet
19.  Acrostic Poem
20.  Acrostic poem
21. I’m taking a trip on a big cruise ship.



22.
23.
24.
25.
26.
27.
28.
29.
30.

My life is a dream.
aabba

Limerick
personification
Life is a game.
rocket
personification
Rhyming words

The big black bear jumped at the little bunnies.
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D 5: AN Basic Science WORKSHEET -2

Region - Light &Space

Standard 7- Unit -2 Wonders of visible light
Standard 5- Unit -3 Celestial Shadow Sight
Standard 6 —Unit-8 Moon and Starts
Standard 5 - Unit -9 Space -A world of wonders

1. Which of the following is a Plane mirror?
(a) The reflection plane is curved outwards
(b) The reflection plane is curved inwards
(c) The reflection plane is not smooth

(d) The reflection plane is smooth

2. Milk or Detol is added to the water when the laser light is
passed through it. Why?
(a) To reflect light well



(b) To see the light path clearly
(c) To equalize the angle of incidence and the angle of
reflection

(d) To allow light to pass through water

3.Splitting of white light into its constituent is called
(a) Reflection
(b) Dispersion
(c) Refraction

(d) Lateral inversion

4. Which of the following is a diffuse reflection?
(a) Air

(b) Soil

(c) Water

(d) Smooth floor

5. What is the colour for the hottest star?
(a) Blue

(b) White

(c) Black

(d) Red



6. Why do stars look twinkling?
(a) Reflection

(b) Multiple reflection

(c) Refraction

(d) Radiation

7. What are the causes for waning and waxing of Moon?
(a) The revolution of the moon

(b) Rotation

(c) Eclipse

(d) The rotation of the earth

8. Which was the first artificial satellite of India designed for
astronomical studies?

(a) Aryabhata

(b) Apple

(c) Astrosat

(d) EduSat

9. Name the phenomenon which caused the rainbow?
(a) Refraction

(b) Dispersion

(c) Diffusion



(d) Reflection

10. Which is the movement of the earth that causes the change
of seasons?
(a) Rotation (b) Revolution (c) Solar eclipse (d) Luna

11.What is not a feature of a Plane mirror?

(a) Equivalent size of object and image

(b) The same distance between the object and the reflection.
(c) Lateral inversion occured

(d) Larger reflection than object

12. In which mirror is the image formed smaller than the
object ?

(a) Convex mirror

(b) Concave mirror

(c) Concave lens

(d) Plain mirror

13. Which of the following is a real image?
(a) Can be displayed on the screen
(b) Vertical reflection

(c) Lateral inversion occurred



(d) In the same form as the object

14. Observe the picture and Identify the mirror?
(a) Concave mirror
(b) Convex mirror
(c) Plain mirror

(d) Convex lens

Object mirror  image

15. Observe the picture.

Incident Ray Normal

Plane

Which is the correct image that reflects light




16.Which of the following is the result of Diffused reflection?
(a) The room receives light during the day

(b) Light travels in a straight line

(c) The heat increases

(d) Concentrates light on a point

17.Which of the following is a concave mirror?

18. How much time is taken by the sunlight to reach the earth?
(a) 8 minutes (b) 8 minutes 20 seconds (c) 7 minutes 4 seconds

(d) 8 minutes 30 seconds

19. The study of the moon is called ..............
(a) Selenology

(b) Dermatology

(c) Pedology

(d) Endomology



20 The fish found in the pond could not be caught with an air
gun. What phenomenon of light causes this?

(a) Dispersion

(b) Refraction

(c) Reflection

(d) Diffusion

21. Which is not a spherical mirror?
(a) Shaving mirror

(b) Plane mirror

(c) Rear view Mirror

(d) Headlight reflector

22.Which is the Colour of the object that reflects all the
coloured rays.?

(a) White
(b) Black
(c) Yellow

(d) Violet

23. Who Invented Telescope ?
(a) Marconi
(b) Galileo Galilei

(c) Einstein



(d) Newton

24. On which day when the moon rises in the last along with the
sunrise?

(a) New Moon

(b) Full moon

(c) Blue Moon

(d) None of these

25..In which of the following does regular reflection take place?
(a) Card board

(b) Cloth

(c) Thermocol

(d) New steel vessel

26 When does refraction occur?

(a) When light passes from one medium to another
(b) When light enters a smooth surface

(c) When light enters a rough surface

(d) When passing through air

27 Which colour has the highest photosynthesis rate?

(a) Green



(b) Red
(c) Black
(d) None of these

28. Which lens is used to correct - "Long Sight"
(a) Concave lens

(b) Convex lens

(c) Concave mirror

(d) Convex mirror

29.Which metal alloy is used to make ‘Aranmula mirror’?
(a) Tin, lead

(b) Copper ,zinc

(c) Nickel ,aluminum

(d) Lead, iron

30. The two mirrors are arranged in the following manner.In

which mirror does the highest reflection take place?

AN
B W
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D5: AN Basic Science Answer key -2

Region - Light &Space

Standard 7- Unit -2 Wonders of visible light
Standard 5- Unit -3 Celestial Shadow Sight
Standard 6 —Unit-8 Moon and Starts

Standard 5 - Unit -9 Space -A world of wonders

1(d) The reflection plane is smooth
2(b) To see the light path clearly
3(b) Dispersion

4(b) Soil

5(a) Blue

6(c) Refraction

7(a) The revolution of the moon
8(c) Astrosat

9(b) Dispersion

10(b) Revolution

11(d) Larger reflection than object



12(a) Convex mirror

13(a) Can be displayed on the screen

14(b) Convex mirror

15(b)

16(a) The room receives light during the day
17(b)

18(b) 8 minutes 20 seconds

19(a) Selenology

20(b) Refraction

21(b) Plane mirror

22(a) White

23(b) Galileo Galilei

24(a) New Moon

25(d) New steel vessel

26(a) When light passes from one medium to another
27(b) Red

28(b) Convex lens

29(a) Tin, lead

30(a)
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2
1.  34?=1156, agolcd 10.34] af)©@?
10
A) 0.1156 B) 0.01156 C) 0.001156 D) 0.0001156
2. ®IOY @m’lg@gmmﬂmﬁ aB3QQ)e el Elomo aR©?
7 5 43
10’ 8’54
5 4 3
Al 10 B) 8 C) 5 D) 4
1 1 1 1
= = = — ?
3. (15 ) (15 ) (15 Jw (175 ) 0@
S 2 1 1
4 0.0049x0.000081
' 0.0009x0.00007
A) 360 B) 630 C) 930 D) 6.3
1 1
5. 6@ TVRUQOS - BOUo- 80 ogelad @railed 10 &0 af)©@-?

A) 20 B)30 C)32 D) 22



1 1

— =+ —3—+ ?
6. > *1's +16 X=1, @@o@d X 6M aflel ;oo
1 1 4 12
Al 16 B) 8 2 16 D) 16
11 i .
7. 5 OM 5 OB Wermily @;’]g(m A0RIOOD " -6 @0l 5Jo@d da;]%(m aNBlo- af)©@- !
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A) 3 B) 5 g 1 D) 5
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A) 1440 B) 700 C) 2200 D) 27300

1 1
9. BB ©®OM B@ GAMVEOD QAUMAIMODICS mlam 3 B0Wo RIMLERo Z@omo QDo
NRB@Ead 250 @al dlgo Q. EP@ISHS AUGBIM. Af@?

A) 900 B) 800 C)600 D)700

10.

ul|w

4
X = @RI X &M allal ag@?

1 41 35
A) B) 35 C) 35D)—— a1

1 1
11. M3 BT CH&BIOR! 5 BONQYe @M0q 3 BIUNOYo 6:@1.!%. B3 ENIOESS af)(@ BRIV OEMET

1

A) C) D)

D |~
<39!

1 1 1

—_ — ?
12. 1+ 10+ 100 1000 Q)M MVEEUNYSS BUBIUD (Balo af)® !

A) 1.001 B) 1.0001 C) 1.111 D) 0.111

13. 10 o) )Rl RIS B 6BBBEOS Qo ()Jé(G%@QGG‘B%G)S DB af)©@?



14.

15.

16.

17.

18.

19.

20.

21.

18 17 7 11
B

Ao T 91 Py
6 x0.6 x0.006 =..........
A) 0.0216 B) 0.216 C)0.00216 D)2.16
40x0.04x0.04 _
04x04x04
A) 10 B)O0.1 C) 0.001 D) 1
1 5
- - — - — ?
8 3 10 7 2 g
7 20 6 9
Al 20 B) 7 2 7 D) 20
0.999 emos af©@ @slo@ 3 @lg0?
A) 3.001 B) 2.001 C) 0.001 D) 1.991
1l atb
a=3,b= < @owo o QoS e !
15 1 8
A) 3 B) 3 C) 8 D) s
X 1
7-5 =4E @YW X 6 aflal ag@?
A)5 B)7 Q)9 D) 3
16.16 +0.8=............
A) 2.2 B) 20.2 C) 22 D) 2.02

V256 =16, @r@ocd 1/0.000256 e aleiew@?

A)0.16 B) 1.6 C) 0.016 D) 0.0016
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25.

26.

27.

28.

29.

\/0'0196 o® allelew@?

0.04
A) 70 B) 7 C)0.7 D) 0.07
(0.2) 2+ (0.3) ®=.......
A) 0.5 B) 1.3 C) 0.085 D) 0.067
1 ar.dldl =...........al.&q0.2
A) 100 B) 1L C) 10000 D) _1 N
100 10000

0.0001 &m #Q@OGTTQV aD®1 0@ BHISOM Vo6 o7

' 1000000 & AP To-08 @O
A1l B) 10 C) 100 D) 1000
BQWIOM GHEMRIDS, - :

3 24 33 10 15
5740’55’ 24’25
24 33 15 10

Al 40 B) 55 C) 25 D) 24
0.00001 &® s ag)@-?
A) 0.000005 B) 0.00005 C) 0.00002 D) 0.000002

1 1 1 1
(1+5) (143) (1+7) (14 5) 902
A) 5 B) 7 Q)9 D) 3
1 1
5 56)03)) 3 3 2S6853 ag)©?
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\2
1. If 34°=1156, what is (Oﬁ;” ?
A) 0.1156 B) 0.01156 C) 0.001156 D)
0.0001156
. . . 7 5 43
2.  Which is the largest fraction among 10° 8 '5a°?
7 5 4 3
A) 10 B) 8 C) 5 D) 4
3. Whatis (12 ) (1= ) (1 1) 2
atis (1-5 ) (1-3 ) (1-7 ). (1-75 )
9 2 1 1
A) 15 B) 9 C) 1o D) 3
4 0.0049x0.000081
. 0.0009X0.00007 T eececscscccccscsccecns
A) 360 B) 630 C) 930 D) 6.3

5 If % th of a number is 80, then what is the 1—10 th of that number?

A) 20 B) 30 C) 32 D) 22



1 1 1 1
6 If 5 + Z+§ +E+X=1’ then what is the value of x?
1 1 4 12
A) 16 B) 8 C) 16 D) 16

7. Which number is obtained when the product of % and 1 is divided

2
1
by 27
1 1 1
A) Py B) 5 C) 1 D) 5
8. If there are 6 covid positive cases in 240 samples, how many covid

positive  cases will be there in 28000 samples?

A) 1440 B) 700 C) 2200 D) 27300

9. A man gives % rd of his daily income to his wife and % th to his
son. If the remaining amount left is Rs. 250, what is his daily
income?

A) 900 B) 800 C) 600 D) 700
3 4 .
10. If - X =5, then what is the value of x?
1 41 35
A) 35 B) B C) 35 D) a1

1 1
11. Nandu ate 5 part of a cake and Appu ate 5 part of it. What fraction

of the cake is remaining ?
1 1 1 5
A) ¢ B) 5 Q) 3 D) ¢
. . 1 1 1
12. What is the decimal form of 1+ —+ ——+——9

10 100 1000 °



13.

14.

15.

16.

17.

18.

19.

20.

A) 1.001 B) 1.0001 C) 1.111 D) 0.111

What is the sum of reciprocals of all the factors of 10 ?

18 17 7 11
A) 10 B) 10 C) 10 D) 10
6x0.6x0.006 =..........
A) 0.0216 B) 0.216 C) 0.00216 D) 2.16
40x0.04x0.04 _
04x04x04
A) 10 B) 0.1 C) 0.001 D) 1
] l -~ é -~ Z
What1s83 .107.29?
7 20 6 9
A) 20 B) ~ C) 2 - D) 20
What number should be added to 0.999 to get 3 ?

A) 3.001 B) 2.001 C) 0.001 D) 1.991
Ifa=land b = 1 then whatisﬂ ?
3 5 ab

15 1 8
A) B) 3 C) 8 D) 1=
If 7- % =4 % then what is the value of x?
A) 5 B) 7 Q)9
D) 3

What is 16.16 + 0.8?

A) 2.2 B) 20.2 C) 22 D) 2.02



21.

22.

23.

24.

25.

26.

27.

If V256 =16, What is v/0.000256 ?

A) 0.16 B) 1.6 C) 0.016 D) 0.0016

What is \/0'0196 ?
0.04

A) 70 B) 7 C) 0.7 D) 0.07
(0.2) 2+ (0.3) = oo,

A) 0.5 B)1.3  C)0.085 D) 0.067
lsqmm=........... Sq cm
A) 100 B)—  C) 10000 D)

) ) 100 ) ) 10000
What is 0.0001 divided by 7= 2
A1 B) 10 C) 100 D) 1000

Find the odd one among the following fractions:

3 24 33 10 15

5740°55724° 25

24 33 15 10
40 B) C) D)

A) 55 24

What is half of 0.00001?

A) 0.000005 B) 0.00005 C) 0.00002
0.000002

D)



98. Whatis (1 +%) (1+3) (14 ) ecererrrrneennnnn (1+ )

A)5 B) 7 C)9 D) 3
. 1. 1
29. What 183§t1mes 0f55?
A) 18 =+ B) 15 = 018 + D) 15—
) 3 ) 2 ) 2 ) 3

30.

*

*

The fraction equal to the shaded portion is

1 1 0 = D)l

Z
=
w
N
f—
o}
|
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1  C-0.001156 16. A-LL

: : 2020
2 C-% 17. B-2.001

1

3 C 0 18. C-8
4 D- 6.3 19. A-5
5 C-32 20. B-20.2

1
6 A 16 21. C-0.016
7 C-1 22. C-0.7
8 B-700 23. D-0.067

1

9 C-600 24, Bﬁ
1 0C-35 25. C-100

1 10
11 A-E 26. D o
12 C-1.111 27. A-0.000005

18
13 A 0 28. A-5

14 A-0.0216 29. A-18 %

15  D-1 30. B--—
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Trade to Power

1

Name the spice which was used by the Europeans in olden times to preserve
meat without getting decayed.

A Pepper
B Elaichi
C Ginger

D Cinnamon

What was the reason which caused the interruptions in trade relations
between Asia and Europe?

A Because Turks conquered Constantinople
B Attack of Arabs

C Invasion of Europe

D, Attack of Persia

Which Europeans reach India at first by making use of the trade route from
Europe?

A The Dutch

B The Portuguese
C The English

D The Arabs

In which year did Vasco Da Gama and his team reach the sea port of Kappad
in Kozhikode?

A 1598
B 1498
C 1544
D 1748

Name the ruler who denied trade facility to Vasco da Gama in Kozhikode.

A Marthanda Varma
B Pazhassi Raja



10.

11

12.

C Veluthampi Dalawa
D Zamorin

What are the main trade centres of Portuguese in India?

A Goa , Daman and Diu

B Calcutta, Kollam and Kannur
C Surat, Ahmedabad, and Mahe
D Madras, Pondicherry, Kochi

In which district is the Portuguese built St. Angelos fort situated ?

A Kozhikode

B Kannur
C Malappuram
D Palakkad

In which name was the Portuguese known in our country?

A The Dutch
B Parankis

C The English
D The Arab

Which among the following crops were not introduced by the Portuguese?

A Pine apple

B Tobacco

C Papaya

D Coconut tree

Which is the art that flourished in our country as a result of Portuguese
relation?

A Kathakali

B chavittu natakam
C Chakayar Koothu
D Mappila pattu

In which name were the admirals of the Zamorins™ naval force known?

A Kunhali Marakkar
B Thacholi Othenan
C Lanthans
D Parankis

Name the naval force admiral who led the resistance against the
Portuguese centres in the Malabar region?



13

14.

15.

16

17

18

A Kunhali Marakkar
B Thacholi Othenan
C Parankis
D Lanthans

The Dutch were known or called as--------------=--===---=----

A Lanthans

B Parankis

C The English
D The Arabs

Who was the king of Travancore who defeated the Dutch ?

A Marthanda Varma
B Pazhassi Raja

C Veluthampi Dalawa
D Zamorin

Which were the chief trade centers of the Dutch?

A.Kochi, Kollam

B Kannur and Kozhikode
C.Ponnani, Alappuzha

D Thiruvananthapuram, Kodungallur

When and where were the Dutch defeated?

A. -1741-Kulachal

B -1809-Kundara
C. -1798- Mysore
D -1764-Buxar

Name the book that deals with the properties of the medicinal plants of
Kerala.

A Kerala and Medicinal plants
B Medicinal plants of Kerala
C Hortus Malabaricus

D The Mahabharata

Name the Dutch Governor who initiated the compilation of Hortus Malbaricus?

A Van Rheede
B Albuquerque



19.

20.

21.

22.

23.

24.

25.

C Itty Achuthan Vaidyar
D Hermann Gundert

Name the Malayali who helped Van Rheede to compile Hortus Malbaricus?

A Achuthan Thampi

B Itti Achuthan Vaidyar
C Paliathachan

D Valluvakkonathri

When and where was the English East India Company Established?

A. -1500-Holand
B -1606-France
C. -1600- London
D -1599- Portugal

Where was the first trade center of English East India Company in India
located?

A. Goa

B Calcutta
C. Surat

D Bengal

In which year was the French East India Company established?

A. 1500
B 1606
C. 1600
D 1664

Which were the chief trade centres of French in India?

A.  Goa, Daman and Diu

B Calcutta, Surat, Kochi

C. Mahe, Pondicherry, karackal
D Bengal, Kollam .Goa

Where was the headquarters of French trade activities in India located?

A. Goa

B Puducherry/Pondichery
C. Surat

D Bengal

Name the series of the military conflicts between the French and the English

for the dominance of the trade in India?
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27

28.

29

30.

Carnatic wars
Kulachal war

Mysore War

The Battle of Plassey

OOwWP

Who won the Carnatic War?

A The Dutch
B parankis

C The English
D The Arabs

Where did the English East India Company establish its rule first time in India?

A. Goa

B Calcutta
C. Surat

D Bengal

When and whom did the English defeat in the Battle of Plassey in 17577

A.  Mir Jafer

B Siraj-ud-Daulah

C. Bahadur Shah Zafar
D Veluthampi Dalawa

By the end of which war and year was the Bengal completely under the rule of
English East India Company?

A. Battle of Plassey-1757

B  Battle of Buxarin- 1764

C. The treaty Of Sreerangapattanam in 1792
D First war of Independence in 1857

In which War was Tipu defeated and killed by the English?

First Mysore war

Battle of Buxar

The treaty of Sreerangapattanam
Fourth Anglo-Mysore war

OO w®
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ANSWER KEY
1 A Pepper

2. A Because Turks conquered Constantinople
3 B The Portuguese
4. B 1498

D Zamorins

6. A. Goa, Damam and Diu
7 B Kannur

8. B The Parankis
9. D Coconut tree

10 B Chavittu natakam

11 A Kunhali Marakkar

12 A Kunhali Marakkar

13 A Lanthans

14 A Marthanda Varma
15 A.  Kochi, Kollam

16 A. 1741-Kulachal

17 C Hortus Malabaricus
18 A Van Rheede

19 B Itti Achuthan Vaidyar
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